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PART - A 12

INTELLIGENCE AND REASONING

Directions (Q. 1-9): In the following questions, there is

a definite relationship between two groups of letters to

the left of the sign ': :'. Out of the four responses select 15
one and substitute it for the '?'"

1. JKLM:LIMK::TUVW :?

(a) UTWV (b) VIWU I

(c) VUTW (d) VIUW
2. HGIJ: GHHK : :POQR : ?

(a) OPPS (b) QPPT

(¢) 0QQS (d) QOOS
3. SAFE :TCII::CLAP:?

(a) OMCR (b) DMET

(¢) DNES (d) DNDT
4. CFGI: RUTX :: KMNO : ?

(a) PMNL (b) LNMP

(¢) LMNP (d) PNML 17.
D 2o B il ¥

(a) 23 (b) 82

(c) 97 (d) 113
6. 11:119::15:7

(a) 154 (b) 223

(c) 233 (d) 152 18.
T 2 050 B

(a) 18 (b) 19

(c) 20 (d) 21
8. MAN: BIOGRAPHY : NATION : ?

(a) PEQPLE (b) POPULATION

(¢c) GEQOGRAPHY  (d) HISTORY 19.
9. Crop:Fam::Ore:?

(a) Iron (b) Volcano

(¢) Mine (d) Factory
Directions (Q. 10 to 15): Select the one which is different
from the other three responses.
10, (a) CXDW (by GTHS

(¢) TQKP (d) HRIS Al
11. (a) Wool (b) Feather

(¢) Har (d) Grass
12 i& D @

(a) (b) (c) (d)
%

' vaal WA 9§ R N

(ay 5747 (b) 39-29
(c) 19-9 (d) 59-39
{a) Girafte (b) Horse
{c) Camel (d) Bullock
{a) Foreword (b) Text

{c) Index (d) Preface

Which one of the given responses would be a
meaningful order of the following words ?

1. Book 2. Words
3. Letters 4. Sentences
5. Chapter 6. Pages
a3 2 e 5 4 1

by 3 2 5 4 60 1
cy3 2 4 5 4 .1
(dy3 2 4 66 5 1

Your mother 154 vears younger than your father who
is six times oldest than vou. If your age is 6 vears,
what is your mother's age 7

{a) 36 years (b) 34 years

{c) 28 years (d) 32 years

If A 1s the mother of D, B is not the son of C, C is the

father of D, D is the sister of B, then how is A related
toB?

(a) Mother (b) Brother
{c¢) Stepson (d) Sister

In an examination, Rahul got the 11th rank and he
was 47th from the bottom among those who passed.
3 students could not appear for the exam. 1 student
failed. What is the total no. of students ?

(ay 60 (b) 62
(c) 59 (d) 61
Raju 1s Ramu's neighbour and he stays 100 metes
away towards southeast. Venu is Raju's neighbour and
he stays 100 metres away towards southwest. Khader
is Vensu's neighbour and he stays 100 metres away

towards northwest. Then where is the position of

Khader's home in relation to Ramu's ?
{a) South-East (b) South-West
{c) North-West (d) North

Pt INSTITUTE
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a7 - A 13. (a) 57-47 (b) 39-29
(c) 19-9 (dy 59-39
AU T T qehgTie 14 () for (b) T
IREL cwrl'@r?): Frrafafaa woat § 39 . & W (c) &< (d) ==
3 %;:?ﬁ:é}m fiver wwry €. @ M AR 5 (a) W (b) HAUS
w W |?!
1 TR aﬁéj R AR @ (c) SThHTITR (d) wEEAT
. IRER CLIME « TR 9 16. 7=t =N famredt o o e famey = fau 0 vl
(a) UTWV (b) VIWU HT WEF HH ST ?
(¢) VUTW (d) VIUW 1. g% 2. WK
2. HGI : GHHK : : POQR : ?
{a) OPPS (b) QPPT 3. & 4. 9
(c) 0QQS (d) QOOS 5. e 6. TS
3. BAFE :TCII.: CLAP:? (a) 3 2 6 5 4.7l
(a) OMCR (b) DMET B3 2 5 4N\ 1
(c) DNES (d) DNDT
4. CFGL:RUTX::KMNO:? @3 2 ¢ !
(a) PMNL (b) LNMP (d 3 W A 6 5 1
(¢) LMNP (d) PNML 17. SHh! By &= foar ¥ 4 =1 o) © I o e
5. 21:3::574:7 Y 6 T 9 T, AR S9! oA 6 79 €, qF STl
(a) 23 (b) 82 2 s w2
(c) 97 (d 113
6. 11:119::15:? (a) 36 @ (b) 34 =
(a) 154 (b) 223 (¢c) 28 = (dy 32 =%
, ;C_)02_3_33_? L Lod 18. = AWM € DI, B 7 € C Cfua € DL
' (a') W o Daed 8 Bl @ A% BY 1 W=y 87
(c) 20 (d) 21 (a) @ (b) E
8. WIWW31W3?’ (C)-{;'ﬁaa-l-a—d- (d)a%_‘{
(2) Fm ®) 10. U THEN § Whel gu TR § TEe 1 1197 T
Ol (d))gfgg fien @on =% A= W 479 IF W oo die femned
D, U 4 WA £ 5 A 4 wien  SUfeR TEF @1 W, U fornefl s @
ORI (b) SefreTefe Tt =t we wen #= v e?
(e) & (@) wre (a) 60 (b) 62
TEer (W99 109 15) 7% ¥ W gHU W = AW
et & Forer 3 (c) 59 (d) 61
10, (a) CXDW by GTIS 20. TS U9 HT IS © AR GE IO E BT AT 100
(c) TQK P (d) HRIS Hew [ oA EoAY T w O T sl e
11. (a) SA (b) ™ Ffeo-afe=m faen o 100 Hi=x W = 2. WL A9
(c) =l ) == T TS 2 SN A ST UiYEH ® AR 100 W R
TEd B Y % R W WL ® R H1 fefa e s
77
2. <& @ U @ (a) Sf&OT-E (b) Sf&or-dfE=m
@ ) © @ () AR () I
% g W N L W, \
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21.

22,

Directions (Q. 23-24): Find the missing number.

Sanmitra walks towards north 4 km, turns right and 28. Seeta starts from a point, walks 2 km towards north,

walks 5 km. Then he turns towards south and walks turns towards her right and walks 2 km, turns right
2 km. Again he takes a turn towards west walks 3 km again and walks. What is the direction she is facing
and stops for a while. Then he further walks 2 km. now 7

What is the distance of Sanmitra from starting point ? (a) East (b) West

(a) 16 km (b) 2 km {¢) South (d) North

(¢) 4km (d) 3 km 29 Out of four figures which figure will best represent

In the series,

64122874215386217141328 6

the relationship amongst the classes ?

1. Sparrow 2. Birds

how many pairs of successive numbers have a 3. Mice
difference of 2 each ?

(a) Four
(c) Six

(b) Five
(d) Seven

@(° |t

(a) (b) (c) (d)

54 30 112 42 7 28
238, 30. Which of the answer figure is'not made up of only by
the components of the key figure ?
24 70 38

24,

25

(a) 76
(c) 10

"

B’

6561

(a) 18
(c) 24

Height of A 1s less than that of B, but more than that
of C. Height of D is less than A, but more than that of 3 3

y

(b) 66

(d) None of these

(b) 27
(d) 9

Rud

\J ©
X 7
A U X

(a) (b) (c) (d

31. From the following two different appearances of a
die find out the number which is opposite to 'S

2 7 %

C. Height of E is less than B, but more than that of A. A :
Then who is of the least height ?
(a) B (b) C @) 2 ) 3
(c) A d) D (c) 4 ) 6

26. I 'PENCIL' is coded as ? @ =; 7 and PAPER' is 32. Arrangement the following according to dictionary
coded as ? 9 ? (@ 5, how will you code 'CLIP' ? ol
@) @77 b) @7:7 1. Collect 2. Collinear
(c) =77, (d) =77 3. Collection 4. Ceclumn

27. If ] =10, JASMINE = 71, then ESTIMATE = ? %, CRlaHE
(a) 71 (b) 82 (a) 5,1,3,2, 4 (b) 5.1,2, 3,4
(c) 92 (d) 91 (¢) 5,1, 4,3, 2 (d) 5.1,2, 4 3

% "I ANR /A
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L5 J

21, w3 fawm ®t SR 4 fR Torel TW IHEL 5 28, ©i UF T © <o e w €, 2 fEd o @
et S 2. <fm w SR g 2 fEd e 2 R T B, S A AR YAt € S 2 FoRel =erd
e o wfy=m w1 AR gget 3 e S ¢ oW %o 2, TR S0 5 =Y = . o = o feen o =
W % fou wan 2. e Teg 2 foet weran 2. s w27
T wien et @ 2? (a) o (b) fe=m
(a) 16 fweht (b) 2 femei (c) =fem (d) 3™
(¢) 4 frh @ 3 fah 29.ﬁmwa?wﬁ|ﬁﬁ@ﬁﬂ@m&rf

22, Fretfefier St  fbet 7w < AR s @ O 1. fafear 2. fer
¥ T W T W AR 2 8 3.
64122874215386217141328 6 ® = wey frefia #3d e
(a) T (b)

(c) 1 (d) wra @ @ @

THEeT (W9 45 W 49 F) TS WeA W o W ¥ o

HHT. @ ® © @

- 34 30 12 42 7 28 30. G ST ARG Ho 7 TR AHG F TR W

' >/ >/ >/ &t = 27

24 70 38 7%\
@) 76 b) 66 W’
(c) 10 (d) =79 ¥ ®E Tl

U o
b >l O || ® ||
@y @ ® © @
31. W 1 |7 T sreRfaAl @ W@ wits T 5 % wee

{a) 18 (b)y 27 A de §7
(c) 24 () o

25. AW %% 912 € BY W] C ¥ &1 2. D% %% oIl 2 2
T AY TG CH o= € 991 E % %% O €. B \ 5
g A @1 2, @ T BRI HE Thas1 2 5 6
(a) B ) C
() & @B () 2 () 3

26. A& PENCIL %! Heq™ | ? @, = ; 7 feen s & ) 4 ) 6
PAPER' &7 292 @ 5, a1 'CLIP' ®1 %4 fa@n 30 fefafed el &1 I=Hw & %5 § =56rem
ST Hifea-

{(ay @7;°? (b) @?;7? 1. Collect 2. Collinear
(¢) =77, (dy =7:7% 3. Collection 4. Column

27. Afg J=10, JASMINE = 71, df ESTIMATE = ? 5. Collapse
(a) 71 (b) 82 (a) 5.1,3,2 4 () 5.1.23 4
(c) 92 (d) 91 () 5.1,4,3 2 @ 51243

% "B /A NE /A
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33. Which one set of letters when sequentially placed at

the gaps in the given letter series shall complete it ?
¢ _bba cab ac ab ac

(a) babcc (b) beach

(¢) acbeb (d) abcbc

34, Anil introduces Rohit as the son of the only brother of
his father's wife. How 1s rohit related to Anil ?

(a) Cousin (b) Son
(¢) Brother (d) Son in Law
35. IfBADiscoded as YZW then MAD will be coded as—

(a) MNP (b) MNZ
(c) NZW (d) NWZ
36. If Before as coded FEBORE then Jungle will be coded
as —
(a) ELGNUIJ (b) GNUIJEL
(¢) GNUEIL (d) NUIGLE

37. If 'skw nip xtq' stands for 'green pink dress', 'mbv
xtq rib' stands for 'beautiful cotton dress' and 'tsu rib
skw' stands for 'beautiful pink button' what does 'mbv'
stands for ?

(a) pink (b) cotton
(c) beautiful (d). button
Directions (Q. 38-40): In each of thefollowing questions,

two series are given. You have to study the pattern in

series A and following the pattern fill up blanks in series
B.

38. Series A1 518, 14, 5, 622, 10, 1, 972

Series B : 816, 15, 6, 912, ........... . 1028
(a) 12, 4 (b) 12, 3
(c) 11,4 (d) 11,3
39, Series A : 2, 2, 4, 12, 48, 240, 1440
Series B: 1,1, 2,6, ... 120, 720
(a) 18 (b) 24
(c) 30 (d) 36
40. Series A : 4, 6, 12, 30, 90, 315
Series B : 2,3, ............ \ R , 45, 1575
(a) 6,12 (b) 6,15
(c) 4.5, 15 (d) 4.5, 18
S

<N
rad

Wi N LW N

Directions (Q. 41-42): One/two statements are given
followed by two conclusions and assumptions I and I1.
You have to consider the two statements to be true even if
they seem to be at variance from commonly known facts.
You have to decide which of the given conclusions and
assumptions, if any, follow from the given statements—
41. Statement : All hens are cocks. No cock 1s black.
Conclusions :
1. All cocks are hens.
II. No hen 1s black.
{a) Only conclusion I is valid
(b)
(c)
(d)

42, Statement : He is too industrious to be poor.

Only conclusion 11 is valid
Both the conclusions are valid

Both the conclusions are invalid

Conclusions :

1. Very industrious people also can be poor.
II.  Very lazy people«can also be rich.

{a) Only I'is implicit

(b)
(c)
(d)

43, How many squares are there in the given figure ?

Only.IT'is implicit
Both I'and 1T are implicit
Neither I nor II is implicit

{ay 7 (b) 12
(c) 8 (d) 10

44.  Among the four answer figures, which figure can be
formed from the cut-pieces given below in the question
figure ?
Question Figure :

dpﬁ
B 2%

Answer Figures :

B B ||| 5

(a) (b) (c) )
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33, SRRl BT HITH UHE, TR TE W HHAR T8 WM Ov-(WeT 42 UE 43) ¥ TR/ wUAE & AW ar
¥, & T SR e H W H e wd gaEtgEe 13 1R g
¢ bba cab ac ab ac W HEF W9 qeAl ° SR BR W S M A i
(;) P (b) beach TEAET, T TEIHL . 3T 7 A 1 fru et v
TaiEEr § W s A S w1, K T st W e
{c) acbchb (d) abcbe oy
34. e, Ued #1 o0 foa & ool % W D WD 41 e el ght gt O F, B o g wen @
w0 | qfifgd waar 2. Afed st w1 & o 87 zT 3,
I .
() L L W W T e
35. Ak BAD® %8 YZWE, @ MAD %1 %S 1 8Im? (@) o frad 19 &
(&) MNP (b) MNZ (b) wad fresd 114 2.
() NZW (d) NWZ (¢) =M frepd S €
36. Af% Before %1 %18 FEBORE 7, @ Jungle #1 #ie (d) it foeaed T <, '
e B2 42, YA : T IO AHF w2 T 7w e T a
(a) ELGNUJ (b) GNUJEL Ww' .
kG) IGBIEIL YR EE I ~wgd e aie A s W g e
37. ‘green pink dress' =1 ¥FH ATC 'skw nip xtq' & #R IT. gq SrHs e ot o Bl wwd T
'beautiful cotton dress’ =T HFH 'mbv xtq rib’ ) (a) Hae 1 Fﬂ"l‘@'ﬁ?ﬂ =
'‘beautiful pink button' T H=& 'tsu rib skw' &, af (b) Haet I 7 @ o =
T FRC F mbv FR g e 32 (c) TR IISH @] 2 &
(a) pink (d) T 18R =& 1A B 2
pi (b) cotton & e e T
{c) beautiful (d). button 3. : k& ’
Tt (wo 38 | 40) Pl wgat # & Sifomr &
T ¥, 3 St A S Taem @ Sleas ST T 39
fa=ma = a7Er o vt BU foU T @t E R
qit-
38. SOft A: 518, 14, 5, 622, 10, 1, 972 () 7 (b) 12
_ (c) 8 ) 10
Uit B : 816, 15, 6, 912, oo, 1028 1, R S A et 9 e s
(a) 12, 4 (b) 12,3 H fRu T ZHS! ¥ FE S THAl 27
(c) 11,4 @) 11,3 - mﬁ: .
39. SOt A: 2,2, 4, 12, 48, 240, 1440
St <N
B:1, 1,26, ... 120, 720 4
(a) 18 (b) 24 N A
(c) 30 (d) 36 e
40. Soft A: 4,6, 12, 30, 90, 315
U B: 203, s 45, 157.5 @ @ @ {) w
(a) 6,12 (b) 6, 15
(c) 45,15 (d) 4.5, 18 @ ® © @
% "B /A BE /A
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45, If amirror is placed on the line LM, then which of the
answer figures 1s the right image of the given question
figure ?

Question Figure :

gg
M
Answer Figures :

A A

AlX

(a) (b) (c) (d)
46. Which number is present only in one geometrical
figure?
5
an

[F=42 E

4 S~
(a) 3 (b) 2
(c) 3 (d). 4

Directions (Q. 47-49) : A series is given with one term
missing. Choose the correct alternative from the given
ones that will complete the series.

47. 436, 382, 337, 238 2

(a) 167 (b) 159

(c) 138 (d) 148
[
(a) (b) (c) (d)

49. 13, 40, 122, 369 ?
(a) 1110
(c) 1112

(b) 1111
(@) 1113

¥

50.

51.

Sl

53,

54.

95,

56.

57.

58.

Wi N LW N

If the given letters are rearranged, it forms a word
which belongs to one of the four response options.

LORAMIGD

(a) Bird (b) Animal
{c) Tree (d) Flower
PART-B
GENERAL AWARENESS

The Panchayat Raj system in India was introduced

under the direction of which article of the constitution?
{a) 32 (b) 40
{c) 45 (d) 51

With which one of the following games is"Pankaj

Advani associated 7
{a) Cycling (b) Sheoting
{c) Swimming (d) Triathion

What would be the power of an engine which supplies
18kJ of ‘energy per minute?

fa) 2000°W (b) 250 W
(e) 300 W (d) 1080 W

Two spheres of the same metal have radii in the ratio

1 : 2. Their heat capacities are in what ratio?

{a) 1:2 (b) 1:4

{(c)y 2:1 (d)y 1:8

What should be the gap between first No-confidence
motion and second No-confidence motion ?

(b) 3 months
(d) 9 months

{a) 2 months
{c) 6 months
The word ‘carbon credit’ 1s related to
{a) construction industry

(b) carbon production

{c¢) medical science

{(d) IT industry

Ball pen functions on the principle of-
{a) Viscosity (b) Boyle's Law
{¢) Gravitational force (d) Surface tension

Which place among the following was the
headquarters of the Portuguese in India ?

{a) Cochin (b) Goa
{c) Calicut (d) Cannanore
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45.

46.

A et gHoT 7 T LM ™ T@ 9, o < 7T W
ARG W W A G WET SAeRia HT W
wiafas T ?

qea i
wmﬁvﬁ

A|A|A|X

(a) (b) (c) (d)
HITE HEA e UH SAHias ST | fama 27

1
_2@
4 S~

(b) 2
(d). 4

(a) 3
(c) 5

et (9o 47 W 49) ¥ wwm mw faen €, faed we
wE O 8. WW f5U MU fament ¥ ¥ 5% fawew giT
WA ATHA AL G -

50.

51,

52

53.

54.

7= few T wew A Wi Afs qAedate feme W,
q 39 TR W TF T% %1 T g €, S fRu
fomed § ¥ B TH T

LORAMIGD

(a) Bird (b) Animal

(c) Tree {d) Flower
arT- B

WAH AR

TRG | EEd O WOl WEaME % fRE o=k %
frdyr & siovia 3 & T o 7

(a) 32 (b) 40

(c) 45 (d) 51

Yepol srgarvfl &1 dag fr=1 7 9 {69 W & wer
w7

(a) ETgBiAT (by fe
(c) [&faT (d)y graelg
(5) fafoasw

18 kIsst gfafide WaH i el 91 &1 Sife o
g2

(a) 200 W (b) 250 W

(¢) 300 W (d) 1080 W

T U ® S el B T 1 ;2 % oTum o
%1 St o ifand e e o =i

(a) 1 :2 (by 1 : 4

(¢) 211 (@ 1 :8

47, 436,€328337\23¢8 7 55. WWW@T@WW@%
(a) 167 (b) 159 ToherT o el =1fe?
(c) 138 (d) 148 (a) 2 HEM (b) 3 HEM
() 6 HET (@) 9 wER
% 1 56. ‘ldd bfge’ wed &1 d9e fHhayg © ?
4. * §% 3 (a) Frfor genivy (b) Pl Ieras
(¢) fafee fasm (d) smEdr Sen
57. 9 o Tow Togra ™ %™ ® €7
g% % (a) AT (b) e w1 FEH
(¢) ToEE =@ (d) T=E T
(a) ®) ) CY 58, frefafed § & FFE WW YRG ° Qe @
e o ¢
49. 13,40, 122, 369 ?
{a) 1110 (b) 1111 (a) BT (b) T
(c) 1112 @) 1113 (c) e (d) F=R
% "N /A ER A
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59.

60.

The king who 1s described as the 'Indian Napoleon'
for his expansionist policies—

(b) Chandragupta 1
(d) Samundragupta

(a) Kumaragupta
(¢) Chandragupta II
What does ‘Gold Standard” mean?

(a) It is a system, where the total currency is backed
by gold reserves

(b) It 1s a system where the purity of gold is
standardized

(c¢) It is a system where the value of ornaments is
standardized

(d) Itis a system on the basis of which IMF quota
of member countries is decided

66.

67.

Cyclones are also called

(2) typhoons,
(4) whirlpools,

{1} hurricanes,
(3) tomados,
(5) logos

(a) (1)and (2) (b) (2) and (3)
(c) (1), (2), (3) d) @, 3) @D
Major carpet producing states are
{1) Uttar Pradesh

{2) Jammu and Kashmir

(3) Tamil Nadu

{4) Kerala

(5) Assam

61. Which (??f the following 1s/are the sources of renewable (a) (1) and (2) ®) (2) 4nd.(3)
energy 7
3) and (4 d) {(4) and (5
) wind © @ad@® @\l
68. One of the following states is famous for sandal wood
(B) Solar .
oil, soaps etc.
(€) Thermal {a) Tamil Nadu (b) Kerala
@) Onli ) CZ) Onli B) {c) Andhra Pradesh  (d) Goa
Both (A)& (B Both (A) & (C
(C)_ At () (W) BRA) L) 69, The book “Discovery of India” was written by
62. India stretches about kms from North to South.
{a)" Dr. Ambedkar
(a) 2400 (b) 3900 _
{b) Pandit Jawaharlal Nehru
(c) 5200 (d) 3200 _
] ] o h {c) M. K. Gandhi
63. Which Five- Year Plan had an objective of “Rapid _ N
industrialization with particular .emphasis on (d) Dadabhai Navroji
development of basic and heavy industries” ? 70. Who of the following is an accomplished vocalist?
(a) First (b) .Second {a) Monu Mazumdar (b) Shiv Kumar Sharma
(¢) Third (d)* Fourth {c) Satish Gujral (d) Dinanath Mishra
64. The value of which one of the following quantities 71. What is the term of a Member of the Rajya Sabha ?
remains same 1n.all systems of units? (a) Three vears (b) Four years
(a) Acceleration due to gravity (c) Five years (d) Six years
() wpecific gravity 72. Green House Effect ----
(e Press.ure {a) isthe increase in the temperature inside the green
(d) Density house where people can live in.
65. Khajuraho tel.'nples S {b) 1s the increase in the temperature inside a kiln
(1) located in Madhya Pradesh due to the green brick line.
(2) located in Uttar Pradesh {c) 1s the rise in temperature that Earth experiences
(3) a holy place because certain atmos-pheric gases trap heat of
(4) a tourist place Sun
(5) an example of Indian Architectural genius. (d) All (a), (b) and (c)
(a) only (1), (2) & (3) 73. The enzyme that coagulates milk into curd is—
(b) only (2), (3) & (4) {a) Rennin (b) Pepsin
(¢) only (3), (4) & (5) {c) Resin (d) Citrate
(d) only (1), (4) & (5) 74. With which one of the following games is the Hopman
[\
x¥ N1 A HEE A
gl
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59. @9 9OR # Afqd # RO '9Ra & AufeEa’ 66, AigddlT $l--H Fed €|
FEAH A T (1) &R (2) g
(a) HHRT (b) T FeH (3) e (4) =T
(c) = fadr (d) HHRT (5) T
60. "Miies ¥S’ Pl Il e & 7 | @ MR by ) RE)
(@) Eﬁ;w RN g g WA WS AN () (1), 2,(3) @ @.Gh @
oI gieht 8 _ 67. P IUED WE A9 § —
(b ;—S—;ﬁﬂgwgﬁmﬁﬂﬁﬂﬁwmﬁ (1) SR w @) v R Pl
(¢) 9% a8 fwed © | B & e & (& 3 Gl
HeIHRoT fobam oirdn 2 () =TI
(&) e d¢ feed € o/ SR UR 9aw <2l &l @ 3R (b) (2) 3R (3)
AETATE PieT T Bl & (c) (3) 8R4 (@) ()8R (5)
61. et 4 & yrefdiaolia Sl @1 (@) did B 8@)? (5) (5) R (1)
(A) T 68 [=ifetfiad o 9 b oy diamd dd, |idT o &
(C) erfd (a) Ty (b) @l
(a) BT (A) (b) @ (B) OB LNE (d) T
(©) (AaR@ AN (@) (A)aiv(C) @ 69, _fbad feepadl sif gfsar-— 1 foredl off|
62. TR U RO ARG &1 fiRaR e A (@) Sl Mdshy
2 (b) ulsd SlarEvdrd ew
(a) 2400 (b) 3900 (¢) THD, Tkt
{c) 5200 (d) 3200 (d) STGTHIE Saxrofl
63. T eerdt A 1 T SEA AERE TH AW g0, ffafed § € % % 0 T 82
sE = famre T RW a9 <d g d senfe (a) ¥ TERE (b) T vt
w2 () W TE  (d) <
OFL (b) et 71, T ® R UEe 1 See- s e e €7
(c) Y () g (@) F (b) = =t
64. | THE wonfeE o frefafeg 5 9 f5 = #0 () W ) B T
H T A T w2 72. T 8199 $hdT #1 Bidl ® 7
OB (b) fafer= s @) I e ot @i @ W ¥ e i
(c) =M (d) T S TR AT gl
65, WoRlel ey & (b) A {9 ATZT & BNV 9eo & HITR AraHe o
(1) 7= gaer o (2) SR Uy | Eﬂi{ & T o
(3) b ufdm wrd (4) uded e () WAl &R 9T AT B
- %Hﬁﬂﬁﬁmwaﬁﬁ@aﬂﬁﬁ
(a) ®ad (1), (2) T (3) (d) (a). (b) &R (c) |l
(b) Bdel (2), (3) T (4) 73. 39 H @ H Ticd B AW TR o
(c) Bad (3). () T (5) (a) ¥ (b) Hfew
(d) Bad (1), () T(5) (c) s (d) foez
% "B /A NE /A
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75.

76.

77.

78.

79

0.

81.

82,

Cup associated?

(a) Badminton (b) Lawn Tennis
(¢) Hockey (d) Football

The Union Executive of India consists of:

(a) The President; Vice-President, L.ok Sabha Speaker
and the Council of Ministers

(b) The President, Deputy Chairman of the Rajya
Sabha, Lok Sabha Speaker and the Prime Minister

(¢) The President and the Council of Ministers only

(d) The President, Vice-President and the Council of
Ministers only

Electrolysis of an aqueous solution of copper sulphate
using copper electrodes given—

(a) Copper at cathode and oxygen at anode
(b) Copper at anode and oxygen at cathode

(c¢) Copper at cathode and anodes dissolve to give
copper

(d) Hydrogen at cathode and oxygen at anode
Burning pyrites ore gives out—

(a) Carbon dioxide gas

(b) Sulphur dioxide gas

(¢) Nitrogen dioxide gas

(d) Nitric oxide gas

The Governor General of India impeached by the
House of Commons in England was=

(a) Waren Hastings (b} Cemwallis

(c) Wellesley (d)  William Bentinc

Panna’ is an important place in Madhya Pradesh. Tt is
famous for—

(a) Gold mines

(¢) Diamond mines

(b) Silver mines

(d) Iron mines

The first operational electronic digital computer is—
(a) ENIAC (b) EDVAC

(c) EDSAC (d) UNIVAC

DTP stands for—

(a) Daily Text Printing (b) Desk Top Publishing
(¢) Desk Top Printing (d) Daily Text Publishing

A surge of which hormone stimulates ovulation in
human females?

(a) Luteinizing hormone
(b) Estrogen
(¢) Follicle stimulating hormone

(d) Progesterone

E

83.

84,

35.

36.

8T

88.

89,

Wi N LW N

Which one of the following carries out the function in
human beings similar to the one which Malpighian
tubules perform in cockroaches and other insects?

(b) Kidneys
(d) Reproductive organs

{a) Lungs
{c) Heart
Which one of the following diseases is caused by
bacteria and spreads through faecal matter by
houseflies?

{a) Pertussis

{c) Diphtheria

(b) Typhoid

(d) Chickenpox

Which one of the following cities is located on the
bank of the Irrawady river?

{a) Bangkok (b) Hanei

{¢) Manila (d)! Yangon

Granite and Basalt are the examples of which of the
following?

{a) Sedimentary rocks (b) Metamorphic rocks
{c) Tgneous rocks

(d) Calcareous rocks

Which of the following two countries are separated
by the 49th Parallel?

{a) North Korea and South Korea
{(b) South Africa and Zimbabwe
{¢) USA and Canada

{d) France and Germany

Which one among the following states has more
population than the other three?

(b) Madhya Pradesh
(d) Rajasthan

{a) Gujarat
{c) Orissa
Match List I with List IT and select the correct answer
using the code given below the Lists:

List-1 List-I1

(National Highway No.) (Cities connected)
A NHS> 1.  Bhopal-JTaipur
B. NH7 2. Bhubaneswar-

Chennai

C. NH?9 Nagpur-Varanasi
D NHI12 4. Pune-Hyderabad
Codes :

A B C D A B C D
(ay 2 1 4 3 by 4 3 2 1
{(cy 2 3 4 1 (d)y 4 1 2 3
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74, iR vy, Frefated o § o (59 o 9 99 27 83, Frefated § @ BA-W U, 99 ° S9 % wHH
(a) “sfied (b) =i 2w FE HA W BHGT 9 FF Fd A Aerdrsh
(o) F () BT Aferehnd B 72

75. WA ® WA W FEMAR HA-HT 9 HT w1 (a) HPH O
ERCUR Y (c) &&A (d) ST
(a) TR, SR, W W e S nhmfe §4. TTEARed 5 W B O I S 5 i g
B e TS SO o e 2 i wfeer grr foren # e W w82

SR geEE (a) AT (b) EFITS
(c) o T SR HeE (c) Teedfian (d) === (Fe=TaEd)
(@) e ey, T S dih 85, Trefafed & o #9-W TF 96T WERl T8 % 92 T

76, W T W A ww B s e o
et % fop T & fe @ T (b) T
(a) el T B SR T T A (&) i @ AL ,
O T U 86. ﬁwﬁwmﬁ@aﬁﬁm@wﬁ
(c) HUS IR s T B TR B d T ] Sl S it T
(d) Helis T TEESH N U T St (C)W% (d)w% . .

g7, frefeiem ® 9 $F-9 37 9 w1 498 FHAIER

77. UEUEZ SOEE ) S o e @- ofe =X B
(a)W@T’%’WﬁH (a) "I FiEw SR <fao FifE
(b) e SRS 57 et s st fae
(c) RIS SEHEFEES W (¢) FoUToeUo HT =HATET
(d) g siFEs W (d) wiE iR

78. IRTE W TEH ST W S OGRE % RS N oo frffon o © fre T Tt T o7 99 9 s
S W WR A e e e? s ST 37
(a) A efE (b) =i e (2) TR (b) HET W
(c) sretsrett (d) faferm = (c) st (d) T

79. N HEL YRR H W 95d Hew o @ 2. F g0, el =i wEL @ e gefe it ol gt @
4 ¥ g mem & fau wieg 27 = et T e W W W W 3w g
(a) BT OB -1 inl
(&) W @ (Tt T ) (3 o)

80. Tl WHARHE SeRATH FHH FH S % NS T =
(a) ENIAC (b) EDVAC
(¢) EDSAC (d) UNIVAC B NH7 2.

81. DTP T T &Y & . 3. TR AR
() 2ot 3w fRE () SwF 2 Ol D. NHI12 4, O-EETER
(¢c) 2@ 2m fifam  (d) ot = dfsafem e

82. foml o fow e % 7o o sigic # ST A B c D
2 2 (a) 2 1 4 3
(a) TafdET TR (b) SEH ®) 4 3 . 1
i) e e © 2 3 4 1
@) TR @ 4 | 2 3

% g W, N LW, N
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90.

91.

O

93.

94,

95.

96.

97.

Who of the following was a contemporary of
Alexander, the Great?

(a) Bimbisara

(b) Chandragupta Maurya

(¢) Ashoka

(d) Pushyamitra Sunga

Between whom was the Battle of Chausa fought?
(a) Bahadur Shah of Gujarat and Humayun

(b) Humayun and Sher Khan

(¢) Akbar and Rana Pratap

(d) Jehangir and Rana Amar Singh

During the reign of Alauddin Khilji, who were amils ?
(a)
(b)
(c)
(d)

Local landlords at village level
Government agents to collect land revenue
Khurasani and Multani traders of foodgrains

Banjaras who carried the food-grains from villages
to towns.

Which one among the following newspapers was
published first?

(a) The Madras Mail

(b) The Indian Social Reformer
(¢) The Bengal Gazette

(d) The Times of India

Who was the first Indian native ruler to accept the
system of Subsidiary Alliance?

(a) Scindia of Gwalior (b} Nizam of Hyderabad
(¢) Dalip Singh of Punjab(d) Gaikwad of Baroda
Who among the following was a founder of the Swara;
Party ?

(a) WVallabbhaiPatel {(b) Rajendra Prasad

(¢) C. R. Das {d) Narendra Dev

Who among the following national leaders did not opt
to defend the case dealing with the trial of the soldiers
of the Indian National Army in 1945 ?

(a) Sir Tej Bahadur Sapru
(b) Bhulabhai Desai

(¢) C. Rajagopalachan
(d) TJawaharlal Nehru

Aruna Asaf All was associated with which one of the
following?

(a) Bardoli Satyagraha

(b) Quit India Movement

(¢) Civil Disobedience Movement
(d) Khilafat Movement

98.

99,

101.

102.

103.

v WA N LWL N

What 1s the number of the permanent members of the
UN Security Council?

{a) Five
{c) Ten

(b) Six
(d) Fifteen

Match List I with List IT and select the correct answer
using the codes given below the Lists :

List-I List-I1
(U N Bodies) (Headquarters)
A, International 1. Geneva
Court of Justice
B. Food and Agriculture 2. Rome
Organization
C. UNESCO Washington
D. WHO 4. The Hague
Paris
Codes
A BB W% D A B C D
{(a) 2 3. 5 4 (b) 1 2 3 3
{(c).3 4 1 5 (dy 4 2 5 1

PART - C
NUMERICAL APTITUDE

If & be a positive acute angle satisfying

cos28 + cos’@ = 1, then the value of tanZ8 + tan? 8 is

3
@ 3 () 1
© = @ 0
% 5
The value of tand®. tan43°.tand7°.tan86° is
(a) 2 (b) 3
() 1 d) 4

sin 0+ cos0

il ——

sinf—cosh

then the value of sin'@ —cos'@ is

1 2
(@) 3 k) 3
3 4
(c) 3 (d) 5
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90. freAfefe & W M fahst HoM &1 WHHEI o7 98, WA USE RN TS % T TRE Bl weAr a
(a) fafaam (b) = o 27
(c) 3l (d) gofEE g (a) b =
91. =N W1 g Tbas <= o1 T oar? (¢) TF (d) "5E
(a) TSFIG W1 TR IME S TAT 99. -1 Wi Y11 % el grfea it s giemi =
(b) AP 3 I =@H = fedt T w1 o W e I g
(c) SThe ST TN WarT Tqet-1 -1
(d) SR & on s fdg (dgm e Teem)  (qEETew)
92, STASEEN TEmsl % A H ST & 47 A A = 1. S
(a) TE F W W WA - B. W& UE ®W @ed 2. W
(b) Y-T=%F T FHeHt HI A THR Ay C. AR 3. Ffeed
(c) I % TG AR qerdHl SR D. foee wmed §med 4. .87
(d) T W IR W AN o WA AR AN 500afm
93. THfafed @HERTT o § SH-W UH, Ha9UH %z
THIRT g2 A B C D A B € D
(a) 3 AW He @) 2 3 5\4 ® 1 2 3 5
(b) & sfeor W Fewdie L3\ 4lL NS @4 2 5 1
(C)jwﬁz o 1007 wRa | freAfaferm & o fras o A & 1y
(e 51 ERAT SR HE B T i 87
94.%%?311@"&{@%3?[%%%@#@% R I— .
TEEE Y e WieR w7 .
(a) TeMferEY 1 THiEEn ©) @
(b) FTER T femm C
(c) TS 1 Teltd fiiz HRL=
(d) TR HT T S L T LR
95. Frreiferfiant o # M, TR <& F1 Th WATF A7 101 A 0 TH UHB T F A A cos?0 + cos’d =
(a) TEE ME W (b) TSR WS 121, @ tan0 + tan® 0 FT HH T T2
(c) oMo TW  (d) TF T
3
96. Treafafen & @ foe ws TT Aa 7 1945 H AR (@) 3 (by 1
63w % WA H HHEH B SAR! UTE BT
H T e (©) % @ 0
5] At 102. The value of tan4®. tan43°.tan47°.tan86° 1s
(b) SEIE <EE @ 2 ®) 3
(c) Slto: TR (¢) 1 @ 4
& T e 5in 8 + cosO
97. SN S Sl Feifated § ¥ fhw wm @ gty 103 M S0 =3 T sin'e —cos'e s
q q?
% SRl S @ < OF
(b) YA BT AawEH 3 L
(c) Wi ST SRR 3 4
(d) faamra e ©) 3 @ 3
% g W N L W, \
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104.

105.

106.

107.

108.

109,

110.

111

112.

It cosloa-i-coslB:Z, then the wvalue of
tan® o+ sinSB 18
(a) -1 (b) 0
1 d =
(c) (d) Ve
If cosx+cosy=2, the value of sinx+siny is
(a) 0 (b) 1
(c) 2 (d) -1

If x, v are acute angles, 0 < x + ¥ < 90° and sin (2x —
20°) = cos(2y + 20°), then the value of tan (x + y/) 1s:

1
@ 5 ® 2
© 3 @ 1

What number multiplied by 48 will give the same
product as 173 multiplied by 2407

(a) 545 (b) 685

(c) 865 (d) 495

20 women can do a worked in 16 days, 16 men can
complete the same work in 15 days. What 1s the ratio
between the capacity of a man and a woman ?

(a) 3:4 (b) 4:3

(¢) 5:3 (d) data madequate

A can do a piece of work in 6 days alone and B alone
can do it in 8 days.A and B undertook to it for rupees
640. With the help of C, they finished it in 3 days.
How much: paid te C ?

(a) 60 (b) B8O

(c) 100 (d) 120

Find the least perfect square number which is divisible
by 12, 15 and 25—

(a) 400 (b) 900

(c) 1300 (d) 1600

The cost of rupees 2,800 of 3.5 stock at 94 will be—
(a) 2,632 (b) 2,500

(c) 2,362 (d) 2,178

A candidate who gets 20% marks in the examination
fails by 30 marks but another candidate who gets 32%
marks get 42 marks more the minimum pass marks.
The pass percentage is—
(a) 25%
(c) 36%

(b) 33%
(d) 40%

113.

114.

115.

116.

117.

118.

119.

120.

121.

122.

v WA N LWL N

The angle between the hands of a clock 1s maximum

at —

{a) 4 O'clock (b) 9 O'clock
{c) 6 O'clock (d) 5 O'clock
(F9)% =7

{a) 6421 (b) 6681

{c) 6111 (d) 6241
(17 + (232 = ?

{a) 718 (b) 818

{c) 988 (d) 828

What is the approximate answer of the following ?

7
12833 + 133% of 1655 3 of 3533 =7

(a) 10000 (b) 10500
(¢) 11000 (d) 9500
9999 + 8888 + 777 +7 = 19700
(a) 36 (b) 16
(c) 64 (d) 26
6076 < 111 = 666666

(@) 0 (b) 2

(c) 1 (d) 6

Market price of an article is Rs. 500. The shopkeeper
sells the article at successive discounts of 15% and
10%. Another shopkeeper sells the same article and
gives the successive discounts of 9% and 16%. From
which shopkeeper the customer will get more benefit?

{a) First (b) Second

{c¢) Equal from both  (d) None of the above
There is a copper wire of 1 cm diameter and 8 cm
length. 1t is moulded in a wire of 18 cm length. What
would be the diameter of this new wire ?

{a) 1/30 em (b) 2/15 cm

{(c) 2/3 cm (d) 1/15 cm

Sakshi gave away 20% of her stamp collection to Jyoti
and 15% to Aruna. If she still has 520 stamps, then
how many did she have initially ?

{ay 700 (b) 600
{c) 800 (d) 1000
If the ratio of boys to girls in a class 1s 5 : 3, then

which of the following CANNOT be the number of
children in that class ?

(a) 40
{c) 150

(b) 96
(d) 24
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104.

105.

106.

107.

108.

108,

110.

111.

112.

Az cos? o+ cos? =2 T, A tan’ o+ sin® p F A
forae =Ty
(a) -1 (b) O
1
() 1 (d) N
AfE cosx+cosy=2, A sinx+siny H AW 2
(a) 0 b 1
) 2 @) -1
A x, p F[ FM F, 0<x+yp < 90° AR sin (2x

209) = cos(2y + 20°) al tan (x+3) %1 °HA 2

(a) jg (b) f

(©) 3 (d) 1

48 = T¥ T W 0N HI W AN, 173 W1 240
W T HA T IPAEA % oE 9T g

(a) 545 (b) 685

(c) 865 (d) 495

20 Azt HE %M 16 T § 0 HE 2 16 @

T P w15 A A @ w €, A wew qen
Tfeenstl ® &E@! & FIIE F T

{a) 3:4 (b) 4:3
(c) 5:3 (d) e sTEra §
ADE ®M T 6 &A1 H 990 B & <9 8 faAl

o I T FohT €. A SN B IHI A fHerw 98 HH 640
% o WA C %1 H9E T €L 361 39 &M Bl 3
et 7 g faan ¢ ®-feat afer %1 Em @ 2
(a) €0 (b) 80

(¢) 100 (d) 120

SAGH g a gem ety S 12, 15 #f 25 |
oo =i-

(a) 400 (b) 900
{(¢) 1300 (d) 1600
2.800%. & 3.5% WiH & 94 ¥ T W fHar g

B2

(a) 2,632 (b) 2,500
(c) 2,362 ) 2,178
T TeE W TET § 20% % U e T S o

30 T W Sl @ W €. Uh o wemh &l
32% 3 W BRI ©, S A SHivie W 42 3%
aAfys €, d Suoie wiavE | -

113.

114

115.

116.

117.

118.

119.

120,

121.

122

Wt F S g @ A W w et A @
% T ©7

(a) 4 = (b) 9 ==

(c) 6 =t @ 5 =

(792 =7

(a) 6421 (b) 6681

(c) 6111 (d) 6241

(172 + (23)2 =7

(a) 718 (b) 818

(c) 988 (d) 828

? w1 Trefafem & e wm T 27
12833 + 1655 1 133% — 3533 =1 % =%
(a) 10000 (by 10500

(¢) 11000 (d) 9500

9999 + 8888 + 777 + 7 = 19700

(a) 36 ) 16

(c) 64 @ 26

60 76 * 111 = 666666

(a)..0 (b) 2

(e) 1 (d) 6

T T H ST oA 500 ¥UU T TF THMER 59

T BT 15% S 10% H T2 W a9 ¢ N @@
THER 5] I 9% IR 16% B B2 T F=a1 8, @
B THMIE U TEF B ATF AT T

(a) & H () TR ¥

(¢) (a) TN (b) THT ¥ =R

(d) = § HE T

§ T TR SN | U o7 A AW % T an”
%I 18 W o WEN qR H 2l S €, 9 SO
= T B

(a) 1/30 = (b) 2/15 Ty

(c) 2/3 Tt (d)y 115 5=

e A AT W welweE ° W 20% S S AR
15% 1601 %1 U, o/ W% 9 520 €9 99 2. qf
T W 36 T e fedd = 92

(a) 700 (b) 600
(c) 800 (d) 1000
T HET H TP AN eISiHA B WA HT I 5

3%, Frefafed § o S 39 %81 § a=a1 &
T el B Wkl 27

(a) 25% (b) 33% (a) 40 (b) 96
(c) 36% (d) 40% (¢) 150 @ 24
% "B /9 BE /A
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123,

124.

125.

126.

127.

128,

129.

130.

If x @ v represents the number of integers greater

than x and less then y, what is the value of -1 @ /2 ?

(a) 4 (b) 5
@) 2 @ 3
A+58
If Y A—2B then what is the value of 4 when
B=-17
(a) 3 (b) 0.333
(c) 0.222 @) 2

Perimeter of a square-shaped waste land is 208 metres.
Width of the path around it is 2 metre. At the rate of
Rs. 12.5 per metre, what would be the total cost of
fencing around the path ?

(a) Rs. 2500 (b) Rs. 2700
(¢) Rs. 2800 (d) None of these

What would be the radius of that circle whose areas
is equal to the sum of the areas of the circles of radius
of 5mand 12 m each ?

(a) 13 m
(¢) I5m

(b) 14 m
(d) None of the above
Seventh day of a month lies on three days before

Friday. Which will be the day on the 19th date of this
month ?

(a) Sunday (b) Menday

(¢) Wednesday (d) Friday

A train of 750.m length is running at a rate of 60 km/
hr. How long will 1t take to cross a signal post ?

(a) 50 (b) 40

(c) 55 (d) 45

A sold an article to B at a profit of 22.5% and B sold
to C at 7.5% profit and B sold to C at 7.5% profit. C

paid Rs. 5267 and 50 Paise for that article. At what
cost did a purchase that article ?

(a) 3500 (b) 4000
(c) 4500 (d) 5000
Lengths of the parallel sides of a trapezium are 11 cm

and 25 cm, respectively. Other two sides are of 15
cm and 13 ¢m, respectively. Area of the trapezium

will be —

(a) 189 cm? (b) 216 cm?

(c) 256 cm? (d) None of these
1’5;!

131.

132.

133.

134.

135,

136.

3T

138.

/A EBE A

What would be the value of x, if 3(X_y) =27 and

3(*+Y) ~ 943 9

(a) O (b) 2
(c) 4 (d) 6
If the length of a rectangle is decreased by 50% and

the breadth 1s increased by 80% then find the % change
in the area of the rectangle —

(a) 5% (b) 10%
(c) 20% (d) 50%
If 12 carpenters, working 6 hours a day can make

460 chairs in 24 days, how many chairs will 18
carpenters make in 36 days, each working 8 hours a
day 7

{ay 1260 (b) 1320

{c) 920 (d) 1380

What is the.sum of all even numbers up to 300 ?
{ay 20650 (b) 22650

{c) 24650 (d) 18650

Ten years ago, Raman was 1/3 as old as he will 20
years from now. Raman is now —

(b) 25 years
(d) 30 years
A towel, when bleached was found to have lost 20%

of its length and 10% of its breadth. The % decrease
in its area is—

{a) 20 years
{c) 27 years

(a) 10% (b) 10.8%
(c) 20% (d) 28%
I am three times as old as my son. Five years, I shall

1 :
be 25 time as old as my son. My present age 1s —

{a) 15 years (b) 30 years

{c) 45 years (d) 60 years

An amount of Rs. 1655 and Paise 90 is distributed
among Amit, Bipin and Chandra in such a way that
Amit gets Rs. 3 for every Rs. 2 to Amit and Chandra
gets Rs. 3 for every Rs. 4 to Bipin. How much did

Amit get ?
{a) Rs. 456 paise 80 (b)) Rs. 472 Paise 70

{c) Rs. 486 Paise 90 (d) None of these
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123

124.

125.

126.

127.

128.

L28;

130.

AqfE T x @y ol HEa 8 x99 T v W
B qU] B, W —n @ /2 H AE FT I

(a) 4 (&) 5

(c) 2 (d) 3

fz A;B:Asz,aaAaﬂmwm?

Sq B= 17

(&) 3 (b) 0.333

(c) 0.222 d 2

T SN e g w1 iy 208 Hew . s =\w

AR 2 drew Fer T 2. T wied 9y @ =R e
qE (HET) TR F BE 12.5 TR W D W
forae =Ty

(a) 2500 (b) 2700

(c) 2800 (d) 39 ¥ ®E T

TH T w5 S, foEe SEwer 5 ey Y
12 Hex 5 ot & g % SEma & A & oE
87

(a) 134t (b) 14 @
(¢) 15 =t (d) =8 ¥ HE T
e T o1 W Ta gphean W o T Tee w1 2

q =H OEH w1 1991 T mEE gm?

(a) R (b). WaR
(c) F99R (d) RBR
60 TwHI/=me & @ W AfgHH, 750 Wil o=t U

2 I, TF e TR HI TR HH H fHa Uwve
w GHA T

(a) 50 (b) 40
(c¢) 55 (d) 45
A TH T B 22.5% A W BH 991 R B A

TH % W 7.5% TH T CHI GG CF IH 9 B
fow 5267 % @ 50U R, A o7 =% fHad o
TS of1?

(a) 3500 (b) 4000
(¢) 4500 (d) 5000
T T I WHMRE Y0 11 SHL @ SR 25

ol T € ST R YW 15 UEL SR 13 W
N €, O W 1 & BI-

131.

132

133.

134,

135

136.

137.

138,

afz 30V Zo7 sk ) Z 243 G e TE
T

(a) 0 (b) 2

(c) 4 (d) 6

s TH ET B AHE 50% FEE A ¢ SN IHS!
T 80% TR Wt €, °f TR IW Ea ® g
T s qfiere @ wifse-

(a) 5% (b) 10%
(c) 20% (@) 50%
7fg 12 95, U 6 =021 1 L gU 24 & F 460

FfT o €, A1 18 7€ U § TUI_FH HW T
36 o ot el sw?

(a) 1260 (b) 1320

(¢) 920 () 1330

300 9% H W wH HEAs w1 A e

(a) 20650 (b) 22650

(¢) 24650 (d) 18650

TH 99 TS WA Wt SF 20 T & AR B SHH!

S W TH-TaeE of, O WA W aoHE o o
27

(a) 20 Tl (b) 25 W&

(¢) 27§ (d) 30 W&

e % SU TF diferd i o 20% H1
S H 10% 1 HEt BT T, A THH &5hel H T
wfaer 1 wH 27

(a) 10% (b) 10.8%
(c) 20% (d) 28%
A H s 9 W dE e =g g, Ui we 9w, §

AT =2 @rz% T ST . S T SH T
27

(a) 15 |l (b) 30 W&

(c) 45 9/ (d) 60 @&

1655 %. 3% 90 T =1 s1fiq, fafim 3K ==1 % ==
TH YR dier T T sAfhg Wi oo ot wfa 2 W
T fafi w1 3 % i faftm =i foem =@ wfa 4 =
T H 3 %, fae o sifad «t w5 e u foe?
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139. A 20 metres long wire is to be cut so that one piece 1s
2/3 times as long as the other. What should be length
of longer piece ?

(@) 131.1 m (b) 13.15 m

(d) 125 m
A man divided his property so that his daughter's share

to his wife's share and the wife's share to son are
both in the ratio of 3 : 1. If the son gets Rupees 10,000
less than the daughter, find the total worth of the

(¢) 12m
140.

property—
(a) 15,250 (b) 16,250
(c) 17,500 (d) 18,500

141. A sum of money amounts to Rupees 6000 in 2 years.
If the interest on the sum for that time is rupees 1,000,

find the rate of simple interest—
(a) 5%
(c) 20%

(b) 10%
(d) 25%
142. Five years ago, the average age of P and Q was 15
years. Average age of P, Q and R today is 20 vears.

How old will R be after 10 years ?

(a) 20 (b) 25

(c) 30 (d) 36

While Suresh set out on a‘journey he found that the
tank of his scooter was 2/3 full. After riding for some
hours, he spent 3 litres and lent his friend another 3
litres of petrol. Suresh then found that he had 1/6th of

the tank full. What was the full capacity of his petrol
tank ?

(a) 12 litres (b) 15 litres
(c) 16 litres (d) 20 litres

O and C are respectively the orthocentre and
circumcenter of an acute-angled triangle PQR. The

143.

144,

points P and O are joined and produced to meet the
side QR at S. If /PQS=60° and ~QCR =130°, then

DIRECTIONS (146 - 150) : Study the following table
carefully and answer the questions given below:

Number of students in five disciplines of a
college over the years

Discipline | Arts| Sci. | Com.|Manag.| Agri.
Year

2001 240 358 | 275 215 314
2002 260 | 390 | 286 234 365
2003 275 | 374 | 265 269 336
2004 284 | 368 | 290 255 348
2005 296 | 415 | 272 284 326
2006 312 | 432 | 364 276 383

146.In which year the percentage’ change in case of the
Agriculture discipline was highest to the previous year?

{ay 2002 (b) 2003
{c) 2004 (d) 2006
147.How much approeximate percentage was increased in

the number of students of Commerce discipline from
2003 to 2004 ?

{a) 14
{c) 20

(b) 18

(d) 9

148.In which year the difference in number of students of
Arts and Science was exactly 130 7
(ay 2001 (b) 2002
(c) 2004 (d) 2006

149.The total number of students in Agriculture in 2001
and 2005 together was approximately what percent
of number of students of the same discipline in 2002 ?
{ay 75 (b) 165

{c) 65 (d) 175

150.In which discipline was there a continuous increase in

R number of students over the given years?
30° b) 35°
@) ®) {a) Science (b) Agriculture
(c) 100° (d) 60°
145. The ratio of the areas of the circumcircle and the (e) A @) Sormmens
incircle of an equilateral triangle is
(a) 2:1 (b) 4:1
(c) 8:1 (d)y 3:1
% "I ANR /A
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135,

140.

141.

142,

143.

144.

T 20 HX 7= 8 & W UEE He 9, fE aR
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(a) 12 =fex (b) 15 =X

(¢) 16 =itex (d) 20 =X

O 8k Cuh =A-%ia B PQR # HHI: wa
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E8
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&
TRt ,

Fonr | BET | =rre | wEaw | s
2001 240 358 275 215 314
2002 260 390 286 234 365
2003 5 374 265 269 336
2004 284 368 200 25k 348
2005 296 415 272 284 326
2006 312 432 364 276 383

146.

147.

148.

149.

150,
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(a) 2002 (b) 2003

(). 2004 (d) 2006
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2001 % 2005 ¥ foomee =it § fomfit =1 57
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(a) 30° (b) 35° (a) Tamm (b) =&
(&) 100 () 60° (c) el @) =
145, T H9ag, (99 % aiga 9901 Sa:ga & §wa &
s ferar srm?
(a) 2:1 (b) 4:1
{c) 8:1 (d) 3:1
% "B /A BE /A



D

www.tarainstitute.in

PART-D
ENLGLISH COMPREHENSION

Directions: I'n questions no. 151 to 155, some of the

151.

152.

153,

154,

155,

sentences have ervors and some are correct. Find out
which part of a sentence has an error and blacken
the rectangle corresponding to the appropriate letter
{4, B, C). If a sentence is free from errors, blacken
the rectangle corresponding to (d) in the Answer Sheet.

(a)
(b)
(c)
(d)
(a)
(b)
(c)
(d)
(a)
(b)
(c)
(d)
(a)
(b)
(c)
(d)
(a)
(b)
(c)
(d)

Neeraj said

that he would rather fail than copying
in the examination

No error.

You will come

to my party tomorrow,

isn't it?

No error.

As much as [ admire him for his sterling qualities.
I cannot excuse him for

being unfair to his friends.

No error.

All the furnitures have been

sent to the new house

located in a village.

No error.

Though senior in.age,

his father is junior than

my father in service.

No error.

Directions: In guestions no. 156 to 160, sentences are

156.

157.

given with blanks to the filled in with an appropriate
word, Four alternatives are suggested for each

question. Choose the correct alternative out of the
four and indicate it by blackening the appropriate
rectangle in the Answer Sheet.

The most obvious reason for his lack of popularity

was his to find fault with others.

(a) reluctance (b) premonition
{c) superiority (d) propensity

Although he never learnt to read, his exceptional
memory and enquiring mind eventually made him a
very
(a) benevolent

(¢) pragmatic

man.
(b) dedicated
(d)

charismatic

E

Wi N LW N

through house-to-house
{a) documentation (b) categorisation

{¢) enumeration (d) 1nvestigation

159. The Chairman will come here at 5 pm. to_
lecture.
{a) attain (b) speak
{c) talk (d) deliver

160. Mountaineering institutes to the young climbers the
technical knowledge which has been accumulated over
the years.
{a) impart (b) indicate
(¢) apply (d) help

Directions: In questions no. 161 to 165, out of the four
alternatives, choose the one which best.expresses the
meaning of the given word and mark it in the Answer

Sheet.
161. GERMINATE

{a) decay (b) breed

{c¢) produce (d) sprout
162. EFFICACY

{a) delicacy (b) ruthlessness

{c) efficiency (d) solemnity
163, MAGNATE

{a) tycoon (b) senior executive

{c) non-magnetic (d) symbolic
164. FACET

{a) sweet (b) tap

{c) deceit (d) aspect
165. PERNICIOUS

{a) deadly (b) curious

{c) gorgeous (d) expensive

Directions: In guestion no. 166 to 170, out of the four
alternatives, choose the word opposite in meaning to

the given word and mark it in the Answer Sheel.

166. INGENUGUS
{a) cunning (b) stupid
{c) naive (d) voung
167. EGREGIOUS
{a) notorious (b) splendid
{c) abortive (d) maturity
168. DISSIPATE
{a) waste (b) conserve
{c) organise (d) unite

TARA/SSC-FCI-2

158. The final electoral rolls have been intensively revised
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169.

170.

STURDY

{a) important (b) rich
{c) weak (d) wvigorous
SACROSANCT

{a) irreligious (b) unethical
{c) irreverent (d) open

Directions: /n questions no. 171 to 173, four alternatives

171.

172.

173.

174.

I95:

are given for the meaning of the given Idiom/phrase.
Choose the alternative which best expresses the mean-
ing of the Indian/Phrase and mark in the Answer
Sheet.

In the blues

{a) Being colourtul
(b) Melancholy and low spirited
{c¢) Behave like a lord

{d) Cheerful and happy

See eye to eye

{a) State at each other

(b) Agree

{c¢) Depend on

{d) Make an effort

Talk shop

{a) Talk about one’s profession
{b) Talk about shopping

{¢) Rudicule

{d) Treat lightly
Bad blood

{a) Infected blood
{c) Unfaithtul

Wear ones heart on one s sleeve

(b) lll-feeling
(d) Suspicion

{a) Lure passionately
{(b) Do the right thing
{¢) Show one’s feelings

{d) Beintimate

Directions: In questions no. 176 to 180, a sentence or

176.

underlined part thereof is given which may need
improvement. Alternatives are given at (a), (b) and
{c) below, which may be a better option. In case no
improvement is needed, vour answer is (d). Darken
the appropriate rectangle in the Answer Sheet.

Other countries have eradicated this disease ten years
ago.

{a) eradicated
{c) did eradicated

(b) had eradicated

(d) No improvement

3

177.

178,

179.

180.

Why the dinosaurs died out 1s not known.
(a) it is not known

(b) the reason is not known

(¢) that is not known

(d) No improvement

His father won't be able to leave for Varnasi until they
have arrived.

(a)
(b)
(c)
(d)

I will not go to school, if it shall rain tomorrow.

until they arrive
until they will have arrived
until they will arrive

No improvement

(a) it would rain tomorrow
(b) 1t will rain tomorrow
(c) 1t rains tomorrow

(d) No improvement

He has not and can never be in the good books of his

employer because he lacks honesty.
(a). has'not and cannot be

(b} has not and can never been
(¢) has not been and can never be

(d) No improvement

Directions: In guestions no. 181 to 183, out of four

181.

182,

183.

184,

185.

 W. N LW, N

alternatives, choose the one which can be substituted,
for the given words/sentence and indicate it by
blackening the appropriate rectangle in the Answer
Sheet.

The right to vote
(a) ballot

(¢) franchise

{b) electorate
(d) graffiti

A person who believes he is always ill
(a) maverick {(b) metaphysics
(¢) neophyte {d) hypochondriac
One who assails traditional beliefs

(b) atheist

{d) 1conoclast

(a) critic

(¢) anthropologist
A person who chooses to live in a foreign country
(a) traveller (b) explorer
(¢) 1mmigrant {d) refugee

An official inquiry into the cause of an unnatural death
(a) inquest (b) investigation

(¢) post-mortem {d) instigation
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Directions: In guestion no. 186 to 190, groups of four 191. (a) preparations (b) shopping
words are given. In each group, one word is correctly (¢c) purchases (d) preparing
spelt. Find the correctly spelt word and mark your
) 192. {a) two (b) five
answer in the Answer Sheet. ©) f @ |
186. (a) Asspersion (b) Voluptuous L N
. _ 193. (a) a (b) an
(c) Voguei (d) Equestrain (@ fhe &0y kil
187. (a) Hindrance (b) Hinderrance 194 (a) hate &) st
(¢) Hindrence (d) Hinderence ' d P
188. (a) Parallelled (b) Parralleled 8 ;icommen
G
(¢) Paralleled (d) Paraleled 195, (&) piiscines 5 B
189. (a) Lckadaisicle (b) Lackdaisical '(C) presems 54 presentation
(c) Lackadisical (d) Lackadaisical o5 P ¥ P
190. (a) Inoculation (b) Innoculation ) ?any (d) inore
(¢) Inocculation (d) Inocullation (6] Few () .ess
;e : _ 197. (a) at (b) in
Directions: In the following passage {question no. 191 to
200), some of the words have been left out. First (c) on (d) for
read the passage over and try to understand whatis ~ 198. (a) any (b) a
about. Then fill in the blanks with the help of the {c) the (d) this
alternatives given. Mark your answer in the Answer 199 (a) were (b) are
ket (c) haye 1My (@) Wil ke
PASSAGE(Q. Nos.191-200) . .
— . PERSEE e . 200. (a)soccasion (b) festival
n the large shops ...(191)... for Diwali are begun (olh festi Wik (d) Diwali

(1923, or six weeks before ...(193)... actual day.
Shop owners ...(194)... Diwali because lots of
..(195)... are given, which means ...(196)... goods
are bought than ...(197)...any other time of . (198}
yvear. The main shops ...(199)... decorated many
weeks before ...(200)... to tempt people to buy things.

S
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